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TTAT 3597 :
HETTRad =631 &1 gd Fraemi 8§ ieq SR 37T 91e FHIIg -

(i)

(ii)

(iii)
(iv)
v)
(vi)
(vii)

(viii)

(ix)

()

39 y97-97 § 38 YT 8 | @t 39 arfAare § |

97-9F e @USl H [A9ifad & - &, &, T, 941 g/

QU & § Y &I 1 8 18 T% aglashedid Yo7 (MCQs) T1 T G&I1 19 TF 20
371y Ug aeh TG 1 3k & G & |

TUE @ 4 I G&AT 21 T 25 a% A0 dg-390F (VSA) TR & 2 31 & I3 8|
TUE T F Y37 &A1 26 T 31 dF dY-3I70T (SA) THR & 3 3H & F37 3 |

TS ¥ § Y9 G&IT 32 T 35 a% qIH-3IRIT (LA) IPR & § 37hl & I3 & |

@WUE T H v G&AT 36 G 38 TF THIUT JILTAT STLUTRT 4 37 & I3 8 | Jedoh Tl
37eqgT H AR faehcq 2 37l & Y94 H o971 717 8 |

Y97-99 H GHY fashey & foar mar 21 F=fU, @ve @ & 2 ¥ §, ©@US T & 2 JuAl H,
QS g P 2 Y H YT @IS T & 2 3l & 3 Yo H Al fGeheq &1 Jraem fohar
T

STET SV F, WWWIW%W@H?EZ% difere, afq sr=g9m 7

oz T @ |
HAFCAR H ITINT oA 2 |

e - % 20x1 =20

TE TS | 20 T 3, T TR 1 SR TR |

1. 3 x=ab’ M y=0a’b%, 5=l a3 b 9" g 2, d@
[HCF (x, y) — LCM (x, y)] SRR ? : 1
(@) l1-a'b (b) ab (1 — ab)
(c) ab-d'b* (d) ab (1 —ab) (1 + ab)

2. (1+\/§)2—(1—\/§)2qa5: 1
(a) eFTCHS URET T 7| (b) FUITcH Ui 2|
(c) &MATHe IR TE& 2| (d) omeHe STufET e 2|

3. ‘o AF ek fIT ax? +x+a =0 % g SR 3T 94T ¢, ® 1
(@) 2 (b) -2 © 5 @ -5

4. g A gl ot @ 3 9 21 Fre § @ w-an iy A % Fidwid o ami 27 1
(@) (1,3) ®) (-3,-3) (© (=3,3) (@ G, 1)

5. UF 9 § oA Tal hl AT, et Tl hl 9= ¥ 10 i ) Ife 39 99 9
qlgc@qlwwmﬁaﬁ*lmﬁﬁmﬁw%%,ﬁaﬁaﬁﬁqﬁﬁﬁﬁﬁ%ﬁﬁﬁ
e a7 1
(a) 50 (b) 60 (c) 80 (d) 40
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General Instructions :

Read the following instructions carefully and follow them :

()
(ii)
(iii)
(iv)
v)
(vi)
(vii)

(viii)

(ix)
(x)

This question paper contains 38 questions. All questions are compulsory.

This question paper is divided into five Sections — A, B, C, D and E.

In Section A — Question numbers 1 to 18 are multiple choice questions (MCQs) and
question numbers 19 and 20 are Assertion — Reason based questions of 1 mark each.
In Section B — Question numbers 21 to 25 are very short answer (VSA) type questions,
carrying 2 marks each.

In Section C — Question numbers 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D — Question numbers 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E — Question numbers 36 to 38 are case-study based integrated questions
carrying 4 marks each. Internal choice is provided in 2 marks question in each
case-studly.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions of 2 marks in Section E.

: . 22 . .
Draw neat diagrams wherever required. Take m= - wherever required, if not stated.

Use of calculators is NOT allowed.
SECTION - A 20x1 =20

This section consists of 20 questions of 1 mark each.

1. Ifx = ab’ and y = a’h, where a and b are prime numbers, then
[HCF (x, y) — LCM (x, y)] is equal to : 1
(@) l-a'b’ (b) ab (1 — ab)
(c) ab—a'b’ (d) ab (1 —ab) (1 + ab)

2 2

2. (1+\/§) —(1—\/5) 1S 1
(a) a positive rational number. (b) anegative integer.
(c) apositive irrational number.  (d) a negative irrational number.

3.  The value of ‘@’ for which ax? + x +a =0 has equal and positive roots is : 1

1 1

(@ 2 (b) -2 © 5 @ -5

4.  The distance of a point A from x-axis is 3 units. Which of the following
cannot be coordinates of the point A ? 1
(a) (1,3) ®) =3,-3) (© 33 (@ GD

5.  The number of red balls in a bag is 10 more than the number of black
balls. If the probability of drawing a red ball at random from this bag is % ,
then the total number of balls in the bag is : 1
(a) 50 (b) 60 (c) 80 (d) 40

30/4/1 " 3[Page P.T.O.




‘p’ 1 UM e fore e afiertont o srafifta €9 @ 1w & B

6.
px+3y=p-=3, 12x+py=p
(a) Fad—6 (b) Fad6
(c) 6 (d) =+ 6l B HI3 ft arfas @
7. & T oAFaAl H, @ N \
80°
ﬁl‘ﬂﬁ ABC 3R PQR Nﬂ 6+/3 cm 76 cm
HPAeLok: R 3.8 om
609
(a) 140° B 6 cm c P 12 cm Q
(b) 80°
(c) 60°
(d) 40°
8. tan2A=3tanATIR, A LAFIATE :
(a) 90° (b) 60° (c) 45° (d) 30°
9. /o9 -1 %o T 27
(a) sin 20°>sin 70° (b) sin 20° > cos 20°
(c) cos20°>cos 70° (d) tan 20°>tan 70°
10. TF 30 m I T FEa Wit 1 IR @W & MY § THE a anefi 18 7)) A
T SHE @ 60° T HI0T S &, dF @Y H SHarg gn
(@ 104/3m () 30/3m (c) 15m (d) 153 m
11. 7 cm Y1 9] U &9 i 30 Tag o, Tehel &l arel et &= 0.35 cm &
SRR TTge SHIC A 8| VY 1T T Teel 1 Sferhed & ¢ -
(a) 400 (b) 100 (c) 20 (d) 10
12. 913 hl TOMT o ToIC Gt IReRar ford @eft ot f SRararst s sieet It
# ATt 7 7
(a) HIEAH T qh o (b) H1ET T % WG b
(c) WIeeh a7 ¥ Ugdd & o (d) Tt =t
13. =fg stiwet & fou MU ue A= & fofu mres ofi aredes shusT: 10 3T 11 &, @1 &
Hihgl o TgAR Hl AH @ -
(a) 10.5 (b) 8 () 13 (d) 21
14. & T smpfa #, 92 99 A Shar AB, B g9 ®
oret St }1 g et e O 21 A AB =27
SR OP = 3, 1 2 7 B Frem 3 ) ﬂ
(a) 2r (b) 3r
) 242 r d 2r B
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6.  The value of ‘p’ for which the equations px+3y=p—-3,12x+py=p

has infinitely many solutions is : 1
(a) —6only (b) 6 only
(c) =6 (d) Any real number except + 6

R

7.  AABC and APQR are shown

in the adjoining figures. The om 63 cm .
measure of ZC is : 3.8 cm ' 1
(a) 140°
(b) 80° B 6 cm c P 12 cm Q
(c) 60°
(d) 40°

8. tan 2A = 3 tan A 1s true, when the measure of £ A is : 1
(a) 90° (b) 60° (c) 45° (d) 30°

9.  Which of the following statements is true ? 1
(a) sin 20°>sin 70° (b) sin 20° > cos 20°
(c) cos 20°>cos 70° (d) tan 20°>tan 70°

10. A 30 m long rope is tightly stretched and tied from the top of pole to the
ground. If the rope makes an angle of 60° with the ground, the height of
the pole is : 1
(@ 103m () 30/3m (c) 15m (d) 15/3 m

11. On the top face of the wooden cube of side 7 cm, hemispherical
depressions of radius 0.35 cm are to be formed by taking out the wood.

The maximum number of depressions that can be formed is : 1
(a) 400 (b) 100 (c) 20 (d) 10

12. The cumulative frequency for calculating median is obtained by adding the
frequencies of all the : 1

(a) classes up to the median class
(b) classes following the median class
(c) classes preceding the median class
(d) all classes
13. If mean and median of given set of observations are 10 and 11
respectively, then the value of mode is : 1
(a) 105 (b) 8 (c) 13 (d) 21
14. In the adjoining figure, AB is the chord of the
larger circle touching the smaller circle. The

centre of both the circles is O. If AB =2 r and
OP = r, then the radius of larger circle is : A 1
@) 2r (b) 3r » A
©) 242 r @ 2r
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15.

16.

17.

18.

T 99 % IR Tk TR Igs I Tk G 5 cm A 71 39 TEIAR FgyS
qﬁ":ﬂ'q%:

(a) 20cm (b) 20 cm T A

(c) 20 cm ¥ 31fF W] 40 cm T FH (d) 40 cm

st ABC it g3t AB 3t AC W @1 fig E 3 F 39 wor feud & fop
AR AR L %o 2 i w27

(a) EF=2BC (b) BC=2EF (c) EF=3BC (d) BC=3EF

T 3 % Toh SgUE p(x) F foaw fm ol & & FF-w1 ot 37

(@) p(x) s ik A 1fees Q1 e s 2

(b) p(x) *a & =u a1 e v £

(©) p(x) @ fora e 2

(d) p(x) = 3fees & A1fees A9 i ek 21

UfEl 1 Uk SST Hehl ATl 3Ah ST Tdal WIS TSl 1 AN AE I
ifer 10 B 6T ITireha 2

(@) ®) 10 © 2 @ 1

fcr
Y HEAT 19 AAT 20 T H Ueh ATHRAA (A) o Uvanq Ueh aeh (R) e g | i &

K

19.

20.

%quﬁﬂ:
(a) 2T, AR (A) @ @ (R) T § 3R 7% (R), e (A) i gof
ST LT ¢ |
(b) I, AR (A) a1 T (R) ¥ & 3R T (R), Afwehed (A) &
AT & HATR |
(c) fihe (A) T 8 W % (R) 319 7 |
(d) AfF (A) 9 B W T (R) 9 2 |
arfireRe (A) : Toreft wTeRa = p 6 o, @ 47 s 0 W @A 2 2l
& (R) : Tk T x’, Tk @ s umEE 2 @R 5§, % faw xf
Hed 3% 0 W GHI Bl &, &l n Th TTehd & 7|
atfireRe (A) : Toreft g9 < foreft =me & R W @i T vt TErd a9 g
H
T (R) : T fog & g i 78 Tt T i ersar swer g g
g - @

TEEUEH 599 ¢, FoH ucder o 2 3R 2 |

21.

shsrfordta fafer &, frer gefissor gm =1 g AR
30x + 44y =10, 40x + 55y = 13
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15.

16.

17.

18.

A parallelogram having one of its sides 5 cm circumscribes a circle. The
perimeter of parallelogram is :

(@) 20cm (b) less than 20 cm

(c) more than 20 cm but less than 40 cm  (d) 40 cm

E and F are points on the sides AB and AC respectively of a AABC such

AE AF 1 . . o
_— = — 9
that EB-FC_ 2 Which of the following relation is true ?
(a) EF=2BC (b) BC=2EF (c¢) EF=3BC (d) BC=3EF

Which of the following statements is true for a polynomial p(x) of
degree 3?

(a) p(x) has at most two distinct zeroes.

(b) p(x) has at least two distinct zeroes.

(¢) p(x) has exactly three distinct zeroes.

(d) p(x) has at most three distinct zeroes.

A pair of dice is thrown. The probability that sum of numbers appearing

on top faces is at most 10 is :

() ®) 13 © 2 @ 13

Directions :
In question number 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option :

19.

20.

(a) Both, Assertion (A) and Reason (R) are true and Reason (R) is
correct explanation of Assertion (A).

(b) Both, Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

Assertion (A) : 4" ends with digit 0 for some natural number 7.

Reason (R) :  For a number ‘x” having 2 and 5 as its prime factors, x”
always ends with digit 0 for every natural number 7.

Assertion (A) : Tangents drawn at the end points of a diameter of a circle
are always parallel to each other.

Reason (R):  The lengths of tangents drawn to a circle from a point
outside the circle are always equal.

SECTION - B

This section consists of 5 questions of 2 marks each.

21.

Solve the following system of equations algebraically :
30x+44y =10; 40x+55y =13

30/4/1
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22.

23.

24.

25.

(A) 1.5 m T TF dH 12 m 39 A9-Te (lamp post) & 91g & 2.5 m/sec
1 T | ST @RI 3 sec TTA ITh! BT H TS [ AT
LI
(B) @mrR sgqs ABCD i 4=t AD % foig E 9% sigrn sn @ 3R BE, CD
1 F W gfoesfea et 31 fag hifsie 76 AABE ~ ACFB
fag C % frewme s@ AT 1 9¢ g3 @1 AB W 38 YR @ 2 6
AC =2BC, Jiel A 3R B & fagumes smst: (— 1, 7) 3 (4, — 3) 2l
(A) x &1 9 @ i, fee fag

(sin A + cosec A)* + (cos A + sec A)* =x + tan® A + cot® A
AAAT

3 5in30° —4 sin330°

(B) A R 307 2 cos? 50°

3l i sife S omrw a9 2010 % fogwsR wEH # Ugr gW o) WiRkeRAT A
Hhifere fo

(i) 37 Ml At 5= fifer o & R

(i) = 2 s s ffer forer B

TUg - T

TATUSH 6T g, NAH Uder o 3 3R 2 |

26.

27.

28.

29.

(A) firg Hifs i 2 tF safda gen )
rora
(B) @I x 3R y a1 i emwss @@ € 3 p=x" ), g = x)', r=x")* 8|
p, g Ay & HCF 3R LCM F1a hifvT| 38 1amar ag ft Site Hifve e
F HCF (p, ¢, r) X LCM (p, g, r)=p X g X r & a0 7|
a1 =afrat 6t mifes T 9:7 % U § 8 R 3%k AT @l 1 I 4:3 B
gfe 3 g1 € T 5,000 I sEd a2, @ & e feufq o semivrdia @ =/ e
e TRt TR o ®9 ok TS| 31d: 3Rt TTfies ST FTd hife)
T T By PQR, foed wmeRrr fag Pw R, & oW P (x, ), Q (- 2, - 3)
IR R (2, 3) Bl x 3R y & ff=9 =1 Ty J@ N 37T x & 3 Tt Tovg 99
Ta =it e o y =2 21

(A) Toag FifSu s zgzii::ﬁﬁli = cosec A —cot A

YT
(B) I cot® +cosO = p 3R cotd—cosO =g 2,

@ fag hifsu fw pz—q2:4\/@

30/4/1
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22. (A) A 1.5 mtall boy is walking away from the base of a lamp post which
is 12 m high, at the speed of 2.5 m/sec. Find the length of his shadow
after 3 seconds.

OR
(B) In parallelogram ABCD, side AD is produced to a point E and BE
intersects CD at F. Prove that AABE ~ ACFB

23. Find the coordinates of the point C which lies on the line AB produced
such that AC = 2BC, where coordinates of points A and B are (— 1, 7) and
(4, — 3) respectively.
24. (A) Find the value of x for which
(sin A + cosec A)2 +(cos A +sec A’ =x +tan’ A + cot’ A

OR
(B) Evaluate the following :

3 sin30°—4 sin330°
2 sin?50° + 2 cos?50°

25. Two friends Anil and Ashraf were born in the December month in the
year 2010. Find the probability that :
(1) they share same date of birth.
(i1) they have different dates of birth.

SECTION - C
This section consists of 6 questions of 3 marks each.

26. (A) Prove that V2 is an irrational number.
OR
(B) Let x and y be two distinct prime numbers and p = x* y°, ¢ = x)",
r =x ). Find the HCF and LCM of p, ¢ and r. Further check if
HCF (p, g, 7) x LCM (p, g, ¥) =p X g X r or not.

27. The monthly incomes of two persons are in the ratio 9 : 7 and their
monthly expenditures are in the ratio 4 : 3. If each saved ¥ 5,000, express
the given situation algebraically as a system of linear equations in two
variables. Hence, find their respective monthly incomes.

28. P (x,»),Q(-—2,-3)and R (2, 3) are the vertices of a right triangle PQR
right angled at P. Find the relationship between x and y. Hence, find all
possible values of x for which y = 2.

cosA +sinA -1 _
29. (A) Prove that cosA —sinA ] cosec A —cot A
OR

(B) If cotO+cosO = p and cotb —cosO =g,
prove that p?> — g = 4/ pg

30/4/1 A 9|Page




30.

31.

o 3TR B 589G px? + gx + 1 o I 8| T fgoma 9gug sy oeer % i
2 &

p

10 cm BT a0l T g9 % 90T U ™d ABCD &1 81 g iR T a7
3Id ABCD =1 a7t 21 37d: ABCD 1 uftmmd ma ifsm|

Qus - ¥

TEEISHA4TEE, T T & 5 3R 2 |
(A) T gushor Bigs S god 39 YR B fh ooy ol e, ged 81 ue 9

32.

33.

(B)

(A)

(B)

4 m =€ B R Aol o ged w9 S @ 2 m o ] Bge it ot syonet
i egat sira i) fou T Siye % S i 9RET % e aE %
=1 w1 ST 314 AU

Frere
gefieRtor i:g ’;:g:¥ : (x #3,5) I Uk fgoma aHishor & A ®9

H =k hiIfSU| 31d: 38 AT MU e gt % qe T i)
st ABC 3R PQR i &7d Y€ 3:5 & 9 § &1 AD1BC dun
PSLQR & fo F= it srerfaat § femman mon 2

A P

A

B D C Q S R
(i) fug HfT 6 AADC ~ APSR
(i) afg AD=4cm?, @ PS i oams Fra o |
(iii) (ii) = =1 & ar (AABC) : ar (APQR) 3 shifsru)

YT
SMYRYA  FHTATIIRAl T Sdisl 39
T % swEm ¥ Feffed @ Rig qf X
HfST : A D >
Ffe i TR W [, m, n fod=s </ \ "
i g S s g st A £, B/ Y:
R
— 2

BC EF
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30. o and B are zeroes of a quadratic polynomial px’+¢gx+1. Form a

quadratic polynomial whose zeroes are é and 2

B

31. Rectangle ABCD circumscribes the circle of radius 10 cm. Prove that
ABCD is a square. Hence, find the perimeter of ABCD.

SECTION -D

This section consists of 4 questions of S marks each.

32. (A) The sides of a right triangle are such that the longest side is 4 m more
than the shortest side and the third side is 2 m less than the longest
side. Find the length of each side of the triangle. Also, find the
difference between the numerical values of the area and the perimeter
of the given triangle.

OR

x—2 x—-4 10

x-3 * x-5 3

equation in standard form. Hence, find the roots of the equation so

formed.

33. (A) The corresponding sides of AABC and APQR are in the ratio 3 : 5.
AD1BC and PS_LQR as shown in the following figures :

P

(B) Express the equation ; (x#3,5) as a quadratic

A

B D c Q S R
(1) Prove that AADC ~ APSR
(i1)) If AD =4 cm, find the length of PS.
(111) Using (i1) find ar (AABC) : ar (APQR)

OR

(B) State basic proportionality theorem. q s
Use it to prove the following : — / '\ = !
If three parallel lines /, m, n are / \
intersected by transversals g and s B E "
as shown in the adjoining figure, ) / \

AB _DE c F

then BC-EF ‘/ \'

30/4/1 A I1|Page




34.

3s.

¥ o Y% I8 T GATRR TEET SR T Tohe! ohl BT THT 39 YRR ST
ST & oF w1 W T e @, Bk 2 W Al e @l IR T e | faada
HeTehl T TIEE] Sl TEAT T AN Tad 7 BIA1 2| Ifg B I 1 R 5 cm e
2 3R JUF ATMATHR Tee &I @™ 1.4 ¢cm 7, @ AT TC 918 A1 01 JEA
& A1 ShiTT |

e arferer fafSra oy ot & 39 fiRn &t g goidt @ g v foiw wde o
ST gl ¢ @ M off

AT (AW H) | AT h! ST et gal 3 4 TS oft

5-15 6

15-25 11
25-35 21

35-45 23
45-55 14

55-65 5

0T 80

I AlhS] 1 WA N FTgAR 1 i)
Tue - g

TH EUS H 3 THIUT LTI FATLTA T ¢ | Tedeh 9T 4 3F T 2 |

36.

Ui SR Tl AT SAfefueh Sdieh g < i weTgdl % 99 SR A
g & Qferet it dos @1 ufafe sar 21 sfafus gt & TR § Sl
B & foru gudf sem o SE1 3 wha g sfsa fafsm nfafafert o form)
BET o U & T g 7 Ta b A § T A 7eg ¥ 5 MATRR ool )
Jeeh TMATHR Dood bl I & oIt 44 m T it Amawrehar off|

B W (W& fot o f@mn mn 2) o ot =6l 9 fafe wet #1 JeeH w30
Theft 55| @ig fea e 2 fo fst OAB s wwamg foys @ ofi wvft srnfera &

GEREEES
Q

ST T o ER W, HHEARGT THT o IT ST
(i) I AR Boad i = Fra it
(i) ZAOB & um = 2?7
(iii) (a) ®mIfhd & R, 1 &ABA 1A i)
AAAT
(iii) (b) oTSMIfRA &A1 & IR TR T ATeH T I Mg G HIe)

30/4/1

A 12|Page




34.

3S.

A wooden cubical die is formed by forming hemispherical depressions on
each face of the cube such that face 1 has one depression, face 2 has two
depressions and so on. The sum of number of hemispherical depressions
on opposite faces is always 7. If the edge of the cubical die measures 5 cm
and each hemispherical depression is of diameter 1.4 cm, find the total
surface area of the die so formed.
The following table shows the number of patients of different age group
who were discharged from the hospital in a particular month :
Age (in years) Number of Patients Discharged

5-15 6

15-25 11

25-35 21

35-45 23

45-55 14

55-65 5

Total 80

Find the ‘mean’ and the ‘mode’ of the above data.

SECTION - E

This section consists of 3 Case-study based questions of 4 marks each.

36.

The Olympic symbol comprising five interlocking rings represents the
union of the five continents of the world and the meeting of athletes from
all over the world at the Olympic games. In order to spread awareness
about Olympic games, students of Class-X took part in various activities
organised by the school. One such group of students made 5 circular rings
in the school lawn with the help of ropes. Each circular ring required 44 m
of rope.

Also, in the shaded regions as shown in the figure, students made rangoli
showcasing various sports and games. It is given that AOAB is an
equilateral triangle and all unshaded regions are congruent.

Q

Based on above information, answer the following questions :
(1) Find the radius of each circular ring.
(i1) What is the measure of ZAOB ?
(ii1)) (a) Find the area of shaded region R;.
OR

(i11)) (b) Find the length of rope around the unshaded regions.

[
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37.

38.

& ©yAl W FaA FR IH@ THH

SR H W TH 2| Th oA wIvH

W, TEE W YR fog & e

fog % aa R H T H

T 5000 m 2| S8 e W FHR

=erdl 2 38 W o < fo7g Ted |

IO a0 W G T 914 8

YR g ¥ T8t @Y I gt 200 m g R a1G § @YW 150 m % SR IFAA T

Tonifi fohe ST 1wk steman, o & sifem @9 6 gl 300 m R

STT T o YR W, U HE HI IWAN Hieh HATARGd T 6 IH

dfere -

(i) oMYR fog & 104 @Y I g I I

(i) 159 @% 3R 259 @H & o= i g T Hi

(iii) (a) af et FR 5 m/sec T TMd T I W & IR IR 9 0 W@ g, @
ST Y 159 GH T Uga H hadt HR gI o e wwe i)

T
(iii) (b) T AT = T AT TC @i T FHoT T F7q HifT)

S W T forg P W, ST@T gee g of,
g ToEE W wEed I STETSTE
glauem s s & U gH
39T feham R o

T 60 km/h i TR ° 9 @A
g fog P & 100 m Se&eq fog Q W
ThT| UEi® 1 SATAHA IO Th fosr
&1 9 30° 9/ T |

ST T o ER W, HHEARGT THT o IT ST

(i) 3T feafa = v o i weran @ fefua ifs)

(i) Tore fomiy &0 § Trord IR geedt Toa (P) % = i gft W@ il

(+/3=1.73 i)
(i) (a) @9F (Asve W) F@ Hife o sAarfa sramT w0 30° F 45° &
T 2 |

AT
(iii) (b) TSHT W TH fog T & foag P 0% o # T &l fohaq1 @m0
(Thvg ®) T, ST foF T W WH[eid 31 3TaHA v 39 & 60° 87
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37.

38.

Cable cars at hill stations are
one of the major tourist
attractions. On a hill station, the
length of cable car ride from
base point to top most point on
the hill is 5000 m. Poles are
installed at equal intervals on
the way to provide support to
the cables on which car moves.

The distance of first pole from base point is 200 m and subsequent poles
are installed at equal interval of 150 m. Further, the distance of last pole
from the top is 300 m.

Based on above information, answer the following questions using
Arithmetic Progression :

(i) Find the distance of 10" pole from the base.
(ii) Find the distance between 15" pole and 25" pole.

(iii) (a) Find the time taken by cable car to reach 15" pole from the top
if it is moving at the speed of Sm/sec and coming from top.

OR
(ii1)) (b) Find the total number of poles installed along the entire journey.

A drone was used to facilitate
movement of an ambulance on the
straight highway to a point P on the
ground where there was an accident.

The ambulance was travelling at the
speed of 60 km/h. The drone stopped
at a point Q, 100 m vertically above
the point P. The angle of depression of

the ambulance was found to be 30° at
a particular instant.

Based on above information, answer the following questions :
(1) Represent the above situation with the help of a diagram.
(i1) Find the distance between the ambulance and the site of accident (P)
at the particular instant. (Use J3= 1.73)
(ii1)) (a) Find the time (in seconds) in which the angle of depression
changes from 30° to 45°.
OR

(iii) (b) How long (in seconds) will the ambulance take to reach point P
from a point T on the highway such that angle of depression of
the ambulance at T is 60° from the drone ?
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